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AsHE 4t L=4. Okm 5y 4.0[ m3 4.00
Conk E ik 4t L=4. Okm 5y 0.1 m3 0.10
AsEE#H ALIE B 10.0] t 9.40
ColE#4 018 B 0.2 t 0.24
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N 7RO BRI m | 820 m3 82. 23
FRETERE 4t L=5. Okm 5y 99.0| m3 98. 68
Hrang 53 99.0| m3 98. 68
ERIERE %z 60.0[ m3 60. 44
BAL i # 81.0] m3 80. 59
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TERET ARC-40 t=150 5 80.0[ m2 80. 00
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LERET M-40 t=120 5 80.0[ m2 80. 00
(RahsE @HHIEAs =30 ws | 81.0| m 81.00
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ColE#4 018 B 0.1 t 0.14
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HPPEE ¢ 100 # 120.0] m
HPPEE @15 # 1.0[ m
HPPEE ¢ 50 # 1.0 m
WEF-RT $100%x 75 # 1.0[ @&
WEF-RS $100%x 75 # 1.0[ @&
ERHE ik T $100x ¢50 # 1. 0| AT
WEF-S ¢ 100 M 24.0| &
WEF-S @15 M 1.0| @&
WEF-45B 100 M 3.0 &
WEF-45B @15 M 2.0 &
WEF-22. 5B ¢ 100 # 2.0 &
WEF-C 100 M 1.0| @&
WFF-C @15 M 1.0| @&
WEF-C ¢ 50 M 1.0| @&
PE I @75 # 1.0[ @&
Hlk ®50 - 2L 1.0 &
[5#%%]
HPPEEfEX T 100 FH 120.0] m
HPPEEMER T @15 FH 1.0[ m
HPPEE X T ¢ 50 FH 1.0 m
T UIFLVERFT 6100 BhE20 w5 26.0[ O | WEF-RT 1.0 + WEF-RS 1.0 + WEF-S 24.0
TYIFLVERFT 675 Ah&E20 i %7} 1.0 A | WEF-S 1.0
TYIFLVERFT ¢ 100 AE1A o 11.0| O | WEF-45B 3.0%2 + WEF-22.5B 2.0%2 + WEF-C 1.0
FUIFLVEBET $75 BhE1O s 5.0 O | WEF-45B 2.0%2 + WEF-C 1.0
TYIFLVERFT  ¢50 AE1A i %7} 1.0 A | WEFC 1.0
T UIFLVERFET P75 Ah=h 5 1.0] O | P&ig 1.0
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WEF-45B ¢ 100 M 1.0| &
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WEF-750Y 52 ¢ 75 M 1.0| @&
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WEF-S ¢ 75 M 1.0| @&
WEF-45B ¢ 75 M 1.0| @&
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i YIFLVEYIBIT  ¢50 - ¥7) 3.0| &R
WEF-S ¢ 50 M 2.0 &
WEF-45B ¢ 50 M 2.0 &
WEF-C ¢ 50 M 1.0| &
TYIFLVERFT  ¢50 Ah&E20 i %7} 2.0] O [ WEF-s 2.0
TYIFLVERFT  ¢50 AE1A o 5.0 O [ WEF-45B 2.0%2 WEF-C 1.0
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BEIEL YT ¢ 100 G- %71 2. 0| & Fr
TS-C ¢ 100 M 2.0 &
TSHF T ¢ 100 k7 2.0] f& [ Ts-C 2.0
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TS-C ¢ 75 M 2.0 &
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Kitang B 2.0[ m3 1.96
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BAL i1} ## 1.0[ m3 1.37

[(FET (drEIR) ]

TEREL ARC-40 =150 k] 2.0| m2 2.40
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FRYE Y 5+ 1.0] m3 | WO.6%HO. 75%L1. 0=0. 45
BRL e 44 1.0[ m3 | WO.6%HO. 75%L1.0=0. 45
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AR YD BT Co ¥H 9.0/ m | L9.0%1.0=9.0
HBIEYEE L W 0.1 m3 [ WO.6%HO. 1+L1.0=0. 06
HRE i 2t L=4. Okm %] 0.1 m3 | WO.6%HO. 1%L1. 0=0. 06
BEH IR & 53 0.1] t [ 0.06%2.35=0.14
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N 7RO BRI e 4.0 m3 3.99
AR BT 3 24.0| m 23. 65
FRE T ERE 4t L=5. Okm 5y 5.0[ m3 4.79
Erang 53 5.0[ m3 4.79
MR Wi 5 4.0 m3 3.52
ANNBERE FHELT 37 24.0[ m3 23. 65
BAL [Ty # 5.0 m3 4.69
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TERET ARC-40 =220 5 3.0[ m2 3.00
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L IR Co 5 3.0 m 3.00
S IR R IR A e 4.0 m 3.90
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AsHE 4t L=4. Okm 5y 0.1 m3 0.09
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ColE#4 018 B 0.2 t 0.21
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WEF-750Y 52 ¢ 100 M 1.0| &
WEF-S ¢ 100 M 2.0 &
WEF-45B ¢ 100 M 2.0 &
TS-C ¢ 100 M 1.0| @&
130y FT ¢ 100 ¥ 1.0[ O | WEF-750%" 8% 1.0
T YIFLVERFT ¢ 100 Ah&E20 i %7} 2.0] O [ WEF-s 2.0
T YIFLVERFT ¢ 100 A& 1A o 4.0[ O | WEF-45B 2.0%2
TSHF T ¢ 100 ¥ 1.0 O | Ts-C 1.0
[NoEf##58BAZE T ]
BEIEL EYBT ¢ 100 G- %71 1. 0| /T
B YIFLVELIEIT ¢ 100 - ¥7) 2.0| &R
WEF-S ¢ 100 M 2.0 &
WEF-45B ¢ 100 M 2.0 &
TS-C ¢ 100 M 1.0| &
T YIFLVERFT ¢ 100 Ah&E20 i %7} 2.0] O [ WEF-s 2.0
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As5RiE iy 4t L=4. Okm oz 0.3 m3 0.30
Conk &k 4t L=4. Okm w3 0.1 m3 0.05
AsEEH LB B 1.0] t 0.70
CoBe#t ALIR % B 0.1f t 0.12
Ny kIR EIFR A w3 8.0| m3 8.05
ST ERE 4t L=5. Okm s 3.0 m3 3.31
Brasns B 3.0 m3 3.31
ERIERE et i %7} 6.0[ m3 6.35
TE®RET ARC-40 t=150 W5t 6.0| m2 6.00
TE®RET ARC-40 =220 W5t 1.0 m2 1.00
LE®ET M-40 =120 W5t 6.0| m2 6.00
S Q#FIEAs =30 i 27k 7.0[ m2 7.00
BT EEE
KEFHERT i 27k 0.16| B | (A54)120.0m + (B34»)40.0m




